Subject: Re: Conversion Error?
Posted by Laurent Chardon on Mon, 16 Aug 1999 07:00:00 GMT

View Forum Message <> Reply to Message

Thanks David and Martin for your help. So if | understand properly, IDL uses
fix() by default when converting doubles to integer. That's tricky. Does it
make sense to do that?

The solution would be to use c=fltarr(round(size)). Shouldn't IDL do that by
default?

I'm wondering what's the use of using fix() instead of round() in this
instance. Does anybod know?

Laurent Chardon
Trent University
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